MICROECONOMIC PRINCIPLES

REVIEW QUESTIONS FOR SECOND MIDTERM

Review all homeworks.   Also, look at past examinations.

1.  Suppose a river is used by two parties, a factory and campers.  Since no one owns the river, the factory dumps pollution in it every day.  This greatly upsets the campers who live downstream.  Assume that the government gives ownership of the river to the campers. What will happen to the level of pollution? What if the government gives ownership to the factory?

At present, the marginal private cost of pollution for the factory is zero.  The marginal benefit of pollution for the factor is the avoided cost of clean-up so the factory dumps indiscriminately and the campers suffer.  Assuming no transactions costs, if the government gives ownership of the river to the campers, they will charge the factory for dumping pollution. The minimum price they will accept is the marginal damage suffered by campers as a result of the pollution. The factory will now pollute up to the point where marginal cost of clean-up equals the marginal damage to the consumers.  The level of pollution will probably decrease.  If the government gives ownership to the factory, the factory will charge campers for use of the river.  The factory can charge a higher price if the river is clean.  The difference between the value of the river to the campers when it is clean to the river's value when it is dirty is the marginal damage suffered by campers.  When the factory owns the river, this marginal damage suffered by campers becomes a cost of polluting to the factory because it represents foregone rental income. The factory will pollute up until the marginal cost of pollution (the marginal damage to the campers) is equal to the marginal cost of clean-up.  

2.  Evaluate.  "The government should eliminate pollution completely -- our future depends on it."  

It is rarely economically efficient to produce zero units of pollution.  Economic efficiency requires that the marginal social benefit of pollution equal the marginal social cost of pollution.  The marginal benefit of pollution is the avoided cost of abatement.   A graph will illustrate that these will generally not intersect at 0.  

3.  What are some drawbacks to using private property rights for eliminating the tragedy of the commons?  

One, there could be substantial transactions costs. Two, the property rights could be costly to enforce.  Three, there may be issues of equity..  

4.  Is your economics textbook a public or private good?

A public good is nonexcludable and nonrival.  A good is nonrival if one persons use of the good does not diminish another person's enjoyment of it.  A good is nonexcludable if people can not be prevented from the using the good.  An economics textbook is excludable.  You can prevent others from using the book.   Also, if one person tries to use the good simultaneously with another person it is likely to diminish enjoyment.  However, the information contained in the textbook is non-rival.  

5.  Indifference curves with a constant slope equal to -1 represent two goods that

a.   are perfect substitutes

b.   are used together in a fixed ration

c. are perfect complements

d.  are inferior goods

a.  Perfect substitutes.  The marginal rate of substitution is constant.  See pages 469-470.

6.  In indifference curve analysis, when the price of the goods under consideration decreases, then the

a. indifference curves will shift to the right

b.  slope of the budget line will change.

c. indifference curves will shift to the left

d. individual's total utility schedule will change.

b.  A change in the price of  a good affects only the budget constraint, not tastes.  

7.  Use indifference curve analysis to illustrate why economists argue that the Consumer Price Index tends to overstate inflation.

The Consumer Price Index measures the income needed to buy the old bundle. Thus, it ignores the substitution effect. Less income is needed to be as happy as before because if the price of good X increases relative to the price of good Y, the consumer will substitute Y for X.
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8.  Any price change has two distinct effects on the quantity demanded an income effect and a substitution effect.  Use these two concepts to explain why a labor supply curve may be backward bending.

The wage is the price of leisure. Through the substitution effect, an increase in the price of leisure will lead consumers to buy less of leisure and more of market goods.  The substitution effect predicts that the consumer will reduce hours of leisure and increase hours of work. However, the income effect says that the increase in the wage rate increases the consumer's purchasing power. The consumer will purchase more of all normal goods including leisure so the income effect predicts a decrease in hours worked. The two effects counteract one another. If the income effect is larger, the supply of labor could be backward bending.

9. Suppose that the consumption of a certain product results in benefits to others besides the consumers of the product. Which of the following statements is most likely to be true?

(A) The demand for the product is price inelastic.

(B) A perfectly competitive industry will not produce the optimal quantity of the product.

(C) A perfectly competitive industry will not produce the product.

(D) Optimality requires that consumers of this product be taxed.

 (E) Producers of this product earn an economic profit.



(B) A perfectly competitive market will produce too little.  

10. A firm doubles all of its inputs and finds that it has more than doubled its output. This situation is an example of



(A) increasing marginal returns



(B) diminishing marginal returns



(C) constant returns to scale




(D) increasing returns to scale



(E) decreasing returns to scale







D.  Returns to scale refers to changes in output associated with doubling all inputs.

11) When a firm imposes an external social cost, the government could impose a tax exactly equal to the difference between marginal social cost and marginal private cost to ensure that the efficient level of output will be produced. True, False, Uncertain

True.  The marginal private cost to the firm will increase to equal the marginal social cost. The supply of the product will shift up and equilibrium will be established where MSB=MPC+tax.

12) Jennifer divides her income between coffee and croissants. An early frost in Brazil causes a large increase in the price of coffee in the United States. 

a) Use a graph to show the effect of the frost on Jennifer’s budget constraint and on her optimal consumption bundle.

With coffee on the horizontal axis, the frost will swivel the budget constrain in to the left.  The intercept on the X axis will be smaller and the slope steeper.  Sketch a new indifference curve tangent to the budget constraint. The tangency point defines the new optimal consumption bundle.  

b) In words, describe the effect of this price increase on coffee consumption in terms of a substitution effect and an income effect.

According to the substitution effect, because the price of coffee has increased relative to the price of croissants, Jennifer will eat more croissants and drink less coffee.   The income effect predicts that Jennifer will drink less coffee because her purchasing power has decreased. She will consume less of all normal goods.  

c) Use your graph to illustrate the substitution effect of this price increase.
Draw a budget line tangent to the original indifference curve that has the same slope as the new budget line.  The consumption of coffee at the tangency point should be labeled Xs. X0 to Xs is the substitution effect.

d) Use your graph to illustrate the income effect of this price increase.

On the graph, Xs to X1 is the income effect.  

e) Under what circumstance will the price rise in coffee not cause a change in Jennifer’s consumption of coffee?
If coffee is an inferior good and the income effect offsets the substitution effect, Jennifer's consumption of coffee would be unchanged.

13. Explain why national defense is sometimes given as an example of a public good.

See page 228.

14. Why does the short run marginal cost curve generally slope up?

The short run marginal cost curve slopes up because of the law of diminishing marginal productivity.

15. Define marginal cost, average total cost, average variable cost, and average fixed cost.

See textbook.

16.  Explain the difference between economic profit and accounting profit.

See page 272.
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